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Class X111
SUBJECT-ACCOUNTANCY
MID TERM EXAMINATION (2024-25)
Date:
M.M. B8O

Name of the student:
Time Allowed: 3 hrs
This question paper contains 34 questions. All questions are compulsory.

General Instructions
This question paper is divided into two parts, Part A and B.

Question Nos.1 te 16 and 27 to 30 carries 1 mark each.

-
-
- Questions Nos. 17 to 20, 31and 32 carries 3 marks each
. Questions Nos. from 21 ,22 and 33 carries 4 marks each
. Questions Nos. from 23 to 26 and 34 carries 6 marks cach
Attempt all parts of question at one place
1

(ACCOUNTING FOR PARTNERSHIP FIRMS )

PART-A
A partnership firm has four partners. How many additional partners can be admitted into the

I
business as per the provisions of the Companies Act 20137
a) 50 b) 46 e} 100 d) 96
2 Arun and Vijay are partners in a firm sharing profits and losses in the ratio of 5:1. i
o Tt Balance Sheet (Extract) e,
[Liabilities At Tk G, Assets T
RS- Machinery 40,000 |
If the value of machinery reflected in the balance sheet is overvalued by33 L %, find out the
value of Machinery to be shown in the new BalanceSheet s
a) T 44,000 b) ¥48,000 ¢) T 32000 d) 230,000
3 At the ume of admission of a partner, what will be the effect on journal of the following 1
aim forworkmen compensation 245,000.

information?

Balance in Workmen compensation reserve 240,000. CJ

a) 45,000 Debited to the Partner’s capital Accounts.

b)_ 240,000 Debited to Revaluation Account.
25,000 Debited to Revaluation Account.

d) 5,000 Credited to Revaluation Account.

Read the following hypothetical situation and answer question number (4) & (5):
arments business. They do not have a partnership

Arnjun, Nakul and Sahdev are partners running a g
deed. On Ist April, 2020, their capitals were 26,00,000, ¥ 4,00,000 and 33,00,000 respectively
During the year, they withdrew % 20,000, 15,000 and % 10,000 respectively. On 1st October, 2020,
Nakul gave a loan of Z 80,000 to the firm and is claiming interest on loan @10% p.a. for the year
ending 31" March, 2021, Arjun being an active partner is demanding a salary of % 6,000 per quarter.
For the year ending 31st March, 2021, the firm earned a profit of 90,000,
Interest on Nakul’s Loan will be :

c) 34,800

;
a) %8,000
b) %4,000 M2,4UU

No salary

The amount payable to Arjun as salary is :
a) 224,000 ¢) 312,000
b) Z18,000 }3}

d.




i44th of his share

ner and he takes

C is admitted as @ part

: ')(“{3:2 « . ghare of &¢
é e g :llg.re '-’“"n;ﬁ g' tti!:)cn:nl:l:ﬁ ghare to C. What wct;url shar
from A. B gives
a) 1/4 dy 1/8
b) 1/16
it : INEss.
o vt time of opening of a new busine

Statement(A): Goodwill isa | . X
1(B): Purchased goodwill ariscs at the ¢
d statement (B) are correct.

ncorrect.

i d
Both statement an e
b) Statement (A) is correct and statement (B) 18 ‘I‘ i
¢) Statement (A) is incorrect and statement (BJ is cn-r .
d) Both statement (A) and statement (B) are incorrect i l
: tex
& 5 L) < =% > & f the year amoun
8 A,B and C are partners in the ratio of 5:3:2. If B’s share of profit al the end o y
to ¥1,50,000, what will be A’s share of profits?
a) ¥5,00,000 ¢) 23,00,000
d)/22,50,000
They admit Saraswati |
] was % 1,02,000

b) 21,50,000
Ganga and Jamuna are partners sharing profits in the ratio of 2:1.
for 1/5th share in future profits. On the date of admission, Ganga’s capita
and Jamuna’s capital was 2 73,000. Saraswati brings 2 25,000 as her share of goodwill
and she agrees to contribute proportionate capital of the new firm. How much capital will
be brought by Saraswati?

a) T43,750 c) % 50,000
b) T 37,500 4y 2 40,000
10 Ondissolution, Goodwill Account is transferredto__ \
a) Revaluation Account c) Aartner’s Capital Account
b) Realisation Account d) Profit & Loss Account

A and B were partners in a firm sharing profits and losses in the ratio of 3 : 2. On 1st April, 2021,
the balances in their capital accounts were Z1,50,000 and 22.,00,000 respectively. The partnership

11
deed provided that interest on partner's capital will be allowed @ 10% per annum. During the
year ended 31st March, 2022, the firm incurred a loss of X10,000. Interest on A's Capital will

Y NIL

be
d) 6,000

a) 215,000

b) 9,000
12 If the new partner brings his share of goodwill in cash, it will be shared by old partners

in .
Ratio of sacrifice
b) Old profit sharing ratio
¢) New profit sharing ratio
d) In capital ratio

I3 P, Q and R are partners in a firm sharing profits and losses in the ratio of 2 : 2 : 1. For the year
ended 31st March, 2022, interest on capital was credited to them @ 10% p.a. instead of 5% p.a.

Their fixed capitals were 32,00,000; Z1,00,000; 50,000 respectively. The necessary adjustment

\

entry to rectify the error will be:
| Date | Particulars LF. | DE ()" cor) |
a) P’s Current A/c Dr. 2,000 B \
To Q’s Current A/c : 1,000
1,000 |

To R’s Current A/c

2;
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- ; . 5 _Their fiX

; _ in the ratio of 1 : 210 a

20" Karan and Varun were partners in a firm sharing proiét; 3:1;:1:;’;:?2 016, Kishore was a;ilr!‘t;lt:ﬂ‘::to
00,000 for his capital whi

g profit from Varun.

capitals were 32,00,000 and Z3,00,000 respectively. =&
5 i i t -
are in the profits. Kishore brought <<,Y > 1 his share of

new partner for_1/4th sh _ :

be kept fixed like the capitals of Karan and Varun. Kishore acquir ofit sharing ratio of Karan,
_ _ t ;

ion and the new pro fSGoodWiu on Kishore's

Calculate goodwill of the firm on Kishore's admi;s e it
i ssary Journal Entry for : -
Varun and Kishore. Also, pass necessary chare of goodwill premium in cash.

admission considering that Kishore did not bring his
Aty st _Amount 4

/I/ Girija, Yatin and Zubin were partners in the ratio 5:3:2. Zubin died on 1% Au zt% %?}13500 g

due to Zubin’s executor after all adjustments was $90,300. The exgcutor was pnal _“i“rfn from

immediately and the balance in two equal annual instalments with interest @6% p.a. staring

31% March,2017. Accounts are closed on 31 March each year.

Prepare Zubin’s Executors Account till he is finally paid.

4

X,Y and Z are partners sharing profits and losses in the ratio of 3:2:1. With effect from 1% April,

/2{ 2022 they agree to share profits equally. For this purpose, goodwill is to be valued at two year’s
purchase of the average profit of last four years which were as follows:

Year ending on 31st March,2019 ¥ 50,000 (Profit)
% 1,20,000 (Profit)

Year ending on 31st March,2020

Year ending on 31st March,2021 Z 1,80,000 (Profit)

Year ending on 31st March,2022 % 70,000 (Loss)

On 1st April, 2021 a Motor Bike costing ¥ 50,000 was purchased and debited to travelling expenses
account, on which depreciation is to be charged @ 20% p.a by Straight Line Method. The firm
also paid an annual insurance premium of ¥ 20,000 which had already been charged to Profit and

Loss Account for all the years. Calculate the amount of goodwill.
6

/3/ Sun and Kiran are partners sharing profits and losses equally. They decided to dissolve their firm.
Assets and liabilities have been transferred to Realisation Account. Pass necessary Journal entries

for the following:
Deferred Advertisement Expenditure A/c appeared in the books at X 28,000.
Out of the Stock of %1,20,000; Kiran (a partner) took over 50% of the stock at a discount

b)
of 20% while the remaining stock was sold off at a profit of 30% on cost.

¢) Kiran's Loan of 12,000 was settled at X12,500.
d) Gopal, a creditor for Z1,05,000 accepted 90,000 in cash and investments of 214,000 in full

settlement of his account.
Realization expenses amounted to ¥2,000 which were paid by Sun.

e)
Fumnitute of 70,000 was sold for 268,000 by auction and auctioneer’s commission

¢ amounted to 2,000.
% The following is the balance sheet of A, B and C sharing profits and losses in proportion of 6:5:3
respectively:-
Balance Sheet as at 31 March 2023
Liabilities L4 Assets L4

Creditors 18,900 Cash 1,890

Bills Payable 6,300] Debtors 26’460

General Reserve — 10,500 Stock 29,400

Capitals:- Furniture 7.350
Land & Building 45,150
Goodwill— 5,250

1




They agreed to take D into partnership and give him 1/8" share on the following terms:-
i. Furniture be depreciated by 2 2,920. :
ii. An Old Customer, whose account was written off as bad, has promised to pay 2,000 in full

_ settlement of his full debt. : i b
iii. A provision of Z 1,320 be made for outstanding repair bills.

iv. The value of land and building having appreciated and brought up to

v. D should bring in ¥ 14,700 as his capital. :
vi. D should bring in 2 14,070 as his share of goodwill.
vii. After making the above adjustments, the capital accounts 0

basis of the proportion of D’s Capital to his share in business,
brought in by the old partners, as the case may be.

Prepare Revaluation Account and Partner’s Capital Account.
t

256,910,

f old partners be adjusted on }hc
i.e., actual cash to be paid off or

L, M and N were partners in a firm sharing profit & losses in the ratio of 2:2:3 .
— Amouni(?) |

Balance Sheet as at 31" March 2023 ook
[Liabilitics Amount®)[Assets | L
Creditors ~ 80,000 | Land and Building 5,00,000
Bank overdraft 22,000 | Machinery 2,50,000
Long term debts 2,00,000 | Furniture 3,50,000
Capital A/C Investments 1,00,03?}
L 6,25,000 Stock 4’00’006
M 4,00,000 | Debtors e
N 5’25}000 15,50,000 Bank 3
i Deferred Advertisement 10000
Employees provident fund 38,000 | Expenditure PG T
ST R I e 13,90,000__]

—

BB I0000 | AT S

On 315 March 2023 , M retired from the firm and remaining partners decided to carry on

business. It was decided to revalue assets and liabilities as under : .
a) Land and Building be appreciated by Z 2,40,000 and Machinery be depreciated 10%

b) 50% of investments were taken by the retiring partner at book value.

¢) Provision for doubtful debts was to be made at 5% on debtors.
d) Stock will be valued at market price which is ¥1,00,000 less than the book value.

e) Goodwill of the firm be valued at ¥5,60,000. L and N decided to share future profits

and losses in the ratio of 2:3.
f) The total capital of the new firm will be ¥32,00,000 which will be in proportion

of profit -sharing ratio of L and N.
g) Gain on revaluation account amounted to X1,05,000.

Prepare Partner’s Capital accounts and Balance sheet of firm after M’s retirement.

//Moli, Bhola and Raj were partners in a firm sharing profits and losses in the ratio of 3 : 3 : 4.
mdeed provided for the following: ——

e
/éterest on capital @ 5% per annum.
iy Interest on drawing @ 12% per annum.
(i11) Interest on partners’ loan @ 6% per annum.
(iv) Moli was allowed an annual salary of ¥ 4,000, Bhola was allowed a commission of 10% of
net profit as shown by profit and loss account and Raj was guaranteed a profit of Z 1,50.000 after

making all the adjustments as provided in the partnership agreement.
L e 900 to et 7, .0t the fiom Sortile o

ola extended a loan of R 1,00,000 to the firm. The net profit of the firm for th
ended 31st March, 2017 before interest on Bhola’s loan was % 3,06 el
Prepare profit and l?ss appropriation account of Moli, Bhola and Raj for the year ended 3] st
March, 2017 assuming that Bhola withdrew ¥5;606-at the end of each month, Moli withdrew
< 10,000 at the end of each quarter and Raj withdrew 40,000 at the end of each half year.
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